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QUESTION 1

Fill in the blanks for the following statement:

The gtree specified for____must not exist on the secondary system before you runthe_ command.
A. sec_gtree_path. snapvault start

B. pri_gtree_path. snapvault start

C. sec_qgtree_path. snapvault enable

D. pri_gtree_path. snapvault enable

Correct Answer: A

QUESTION 2

An administrator has presented a thinly provisioned iSCSI LUN to your ESXi host. The administrator deleted data from
the datastore in ESXi. No blocks have been freed on the LUN.

What are two of the steps the administrator should use to solve this problem? (Choose two.)
A. Use the vmfs unmap command

B. Rescan the storage from the host

C. Set the volume to thin-provisioned

D. Set the space-allocation to enabled\

Correct Answer: AD

QUESTION 3

Exhibit:

1. Type cf disable.

2. Unlicense cluster.

3. Remove partner 2ntries for network interfaces from the /etcrc file.
4 Halt and make sure the partner-sysid is blank.

2. Power down anc remove the cluster interconnect card

6. Perform steps 1-5 above on the partner node.

To remove a cluster setup, you must perform the steps displayed in the exhibit.
A. True

B. False
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Correct Answer: A

QUESTION 4

If an error message indicates that the cluster interconnect adapter itself is faulty, what is your corrective action?
A. Check the cabling of the Channel A disk shelf loop and reseat and tighten any loose cables.

B. Check the cabling of the Channel B disk shelf loop and reseat and tighten any loose cables.

C. Re-cable the cluster interconnect adapter or replace the adapter if needed.

D. Check for network activity.

Correct Answer: C

QUESTION 5

Which SyncMirror command mirrors an existing unmirrored aggregate where Data ONTAP selects the disk drives?
A. aggr mirror aggrY

B. aggr mirror aggrY-m

C. aggr mirror aggrY-d 12@ 144

D. aggr mirror aggrY-m 12@ 144

Correct Answer: A

QUESTION 6

Which one of the following actions will cause a currently in sync snapmirror relationship to fall out of sync?
A. Modifying the /etc/snapmirror.conf file on the source storage appliance

B. Modifying the /etc/snapmirror.conf file on the destination storage appliance

C. Runningsnapmirror update on the source storage appliance

D. Runningsnapmirror release on the source storage appliance

Correct Answer: B

QUESTION 7
Which tool can be used to deploy Cloud Volumes ONTAP?

A. Config Advisor
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B. BlueXP
C. CloudCheckr
D. Active IQ

Correct Answer: B

QUESTION 8

Which command disables client access to Snapshot copies on a volume called flexvol1?
A. cifs shares-change flexvoll -nosnap

B. snap access flexvoll off

C. vol options flexvoll nosnapdir on

D. vol options flexvoll snapdir off

E. vol options flexvoll snapdir on

Correct Answer: C

QUESTION 9

Which three tools present statistics from the Data ONTAP counter manager? (Choose three.)
A. stats

B. sysstat

C. windowsperfmon

D. operations manager

Correct Answer: ACD

QUESTION 10
Which one of the following is not a pre-requisite for using SnapRestore?

A. You must enter theSnapRestore license code before you can use it.

B. Snapshots must exist on the storage appliance so that you can select a snapshot for the reversion.

C. The volume to be reverted must be offline.
D. The volume to be reverted must not be aSnapMirror destination.

Correct Answer: C
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QUESTION 11

Which one of the following statements apply to the Free Space Estimator utility?

A. This utility determines if there is sufficient space on the secondary volume to perform a transfer

B. This utility determines if there is sufficient disk space available on the primary to perform an OSSV transfer
C. This utility runs automatically after each transfer

D. This utility must be enabled on the secondary storage system

Correct Answer: B

QUESTION 12

The SnapVault secondary system allows you to keep a separate schedule of Snapshot copies from your primary
system.

A. True
B. False

Correct Answer: A

QUESTION 13

What is the minimum number of HA pairs required for Epsilon to be automatically assigned?
Al

B.2

C.3

D.4

Correct Answer: C

QUESTION 14

Five minutes ago, you performed a single file SnapRestore on a large NFS file. 40% of your NFS users are now
complaining about getting "stale file handles" for the file. Which one of the following is the most likely cause of this
problem, and the best procedure to correct it?

A. These users are on a different subnet from the others. Start troubleshooting by checking their subnet.

B. After a single fileSnapRestore, NFS users have to reboot their systems. Have them reboot their systems.
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C. This might be due to an NFS storage appliance and client versionmis-match. Check to see that these users have the
same version of the NFS client that existed at the time the snapshot was taken.

D. NFS users who try to access a reverted file without first reopening it might get a "stale file handle" error message.
Have the users try to reopen the file and see if the problem is resolved.

Correct Answer: D

QUESTION 15

An administrator is troubleshooting connection problems with ONTAP System Manager. The cluster management LIF is
port a0a-33. Web clients on VLAN 33 are able to access System Manager. Web clients on other subnets are unable to
reach System Manager.

Which network component should the administrator modify?

A. Interface group

B. IPspace

C. Route

D. VLAN

Correct Answer: C
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